PRAFEHKCFINEERF 1 EHETIAE
111 & 12 % 13 p 75c € R &

M£125 27p FrcfHRBELF
112 & 2% 21 p {77 § i i6
FTMN2E 39 2p £ FKFE(=)FH 1120020151 £k L& &

PoE X R 112 & 8% 1F 13 &= 1 % 31 p

|

S
a
"o l-lz|zle |z |2 ¥ & = =

Ji

@ =
%5 1213 4l | 31128 2A% 150 A 4 83814 LBI- A2 FEIFI
21 s [6]7]s8]o]10]n|12] 812 52 g - 5
# % |13)14|15]16]17]18 |19
51 3& [20]21]22]23] 242526
: % & |27/28|29(3031 g;;gﬁ?;ii;gj;; PR AL SR
BB 1|2

93 #A L~ AP

9/4 p MM T WE AT RBRE(P FI 2B
9/5 B IFTE T i

97 2REFREFY § - 2REFFFTRFAY

9/7-9/19 B+ BMikis 4 P F

9 9/8-9/19 B % B.iE3k~9/9-9/10 £4 54 »ap

9/11 BHF p (GEig % 18:30 & 5+ 3%)

- 10{ 11 [12{13[14|15[16] 9/11 * p (§)% th~ 9 ¥ L8}

9/14 i F;PHL L 1 F #(18:00-21:00)

9/20-9/22 p FIEEBIMPREFHR T BBIEP FINF RPRER
= 1718 (1920|2122 (23| 9/20 B T & ~ 921 7L L piFHR

9/23 3 3T~ ik (109 3 %)

= |24|25(26|27|28(29(30] 928 FFLAF P ~ 9129 ¥ R ¥R p

-

- 1213125 61710210018 =P s OIS EELR)
10/9-11/5 7425 £ 5 4427 3
7 810 [10]11[12|13|14] 1009 3 g+ m023 P 50~ 1 39~ 1010 FA p *c - p
10 10/11 7% § 3
: = 1516[17]18[19]20[21] 10221 * B (F)r1% ik~ I ¥ > 3538 23

= 22123 (2425|2627 (28| 1028 KA/ 2 {2iEE § (W &P ¥ 37)

~ 2913031

I 112314
4, 516171819 10l11] 11/6-11/12 #p ¢ £ FEHE ~ 11/8 5 F 7 § &
11
\ L 121314 |15]16|17]18
+ - 19120121 12212324 [25| 11/20-11/24 P42 8 ¢ 4 13398 GIEFRBICHE A FEF 2 )
L= 26(27(28(29(30 1129 #3134 f ¢
2 - Loz 2pG ek -28% - 8oy 9813
12/3 Ap(§)utsth ~ 38X > o185 * 357 17}
+= |3/4/5/6 7|8 9 AR 3T ¥ 9
12/6 A B TERAEE
12| Lw |10/ 11/12]13]14]15]16
Yl 23 |i7)1s|19]20 21 22|23 12720 e g 3k
L2 1242526127 28 29(30] 12/25-12/31 BRI EERF 2 £ H Tk
L= |31
nu3| +t- 1234|5611 PREAL P %E- P




US4+ L ERRWIB Rt SR W2 L AL U6 EF) - 1S
1 xx als]ol0/112]13 kel i Gl TRE
114 £ B2FINP T

1
3 FBE |14|15/16]17]18|19]20
FBE |21(22]23|24(25|26|27
FIBE [28(29(30]31 131 5 18984

B LAEEFF RO RAEEFRET 2L 58

QREAEAPBEFRLFTAGED 0 ATRANERELD « ARANEREPY  d RANELR § 2R L ERANEY B2



PRAFEHKAFINEERFS2EHETIA

11# 127 13 p 7oc g R &

M #1279 270 Frc g RB 2 T8

112 # 27 21 p fiscé RiL &

FWA2E 37 2p & KHE(x)FF 1120020151 53k 2% &

voE X R 113 # 2% 1 p X 113 # 7% 31p
3 el N R R NS E ¥ & # ¥
£ iR 112 l3l2nmgers28hme
R |4]5|6|7]8]09[10] 28214 RAFE
113 25223 A BEE L0
17 Pe N rRKFHETREY
4: R |[1L[12]13]14]15) 16 17 ;ﬁ:2if§if§§s;iiig§;#§m;; gwii,ﬁ&xfgsgg%
2/16 #2 Kk g3~ 2/17-2/18 &4 5 & »fip
! - 18]19[20(21[22]23 |24 zgg zz;;&igf ji;%;jl);‘oi’_z:&fﬁﬁiﬁ?
= 2526 |27]28] 29 2/28 fokk &0 B B
2/29-3/4 p ISR BINPEFEFR I BB IEP FIF R PRE G
= 1|2
= 304(5/6[7(8]9
3 P2 10[11[1213 (14|15 | 16| 3/11-3/27 i & 5 ¢ 3
¥ 7 17118]19]20]21 | 22]23] 3/20 #cis € 3% ~3/18-4/14 P2 L £ F L F ¥ 3
* 24125(2627(28]29[30] 3/30 > p(F)1H ik~ IFF - FipE 23
= 31
= 1{2(3[4]|5]6|43F2A2%p ~4/4 23 $%B- p ~4/5 P $%BE- P
A~ 708|910[11]12]13
4 1 1411516117118 19 [20| 4/15-4/21 $p @ % FBFE ~ 4/17 J FEF € 5K ~ 420 o[ T R KT P
E + 21(22(23|24|25|26|27
L - 2812930 4/29-5/3 prEgp? 4 139F (QEFABEBHE FHELEF 2 R)
4 11213 1a]5455 vz &5 » 8l
a1 - sle|7]s|oliolin]58 22%amtEg 511 2pF)unik -28F > 7R 13
Sz [l |ia]is 6] 17| us| 512 *p Gy CIE o TELE T 57 38
e Tolaolai 22 2 2alas| 520526 E 5w 2% £ R ma
47 |26]27(28(29|30]31
+ 3 1
1 13 0alslel 786369 B3 FERY 1 £ priFs
6 L= 9 10|11 [12]13[14]15| 6/10 =3= &cim- p ~6/12 RIFEH ~6/15 L E£LWEEP T 37)
d L |16[17|18]19 (20|21 [22] 6/17-6/23 # %4 B iFE ~ 6/22-6/23 £4 HLFZMP P
BB |23|24(25(2627(28(29] 6/24-727 £ BWBHER B F 1 H=
2 |30
2 i 1|12(3]4|5]6
7 B [7]8]9]10[11]12[13] 7/1-726 P E}MEBEH B F 1 Hx
i 2B |14|15(16]17|18|19(20
B |21(22(23]24(25]|26|27




7/29-8/23 B 3%
2

*
% B |28]29(30]|31 7/29-8/31 &3 ¥R
S

MEBEHBF 2H=%
MEEIE
731 ¥ 2895

PERB S 2HX

B L2 BE T R URAGERFRET 22 58
QRAAERPFFRIMTAGED > 23R A% TBEIP « 2ZRAAEREPY - d RANRL R § S LRI

[P



